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Aaswer all sir questions.

Modules I to 6: Part'a' of each question is compulsory and answer either'prt 'b' or part'c' of each question.

Q.no. Module I
l-a Mention any three applications of evolutionary computing techniques.

Q.no. Module 2

2.t List the drawbacks of hill climbing technique.

Also explain the algorithm-

Q-no. Module 3

3.a Describe the tournament selection mettrod with exnmple.

Answer b or c

b Explain about various paradigms of evolutionary computation with examples. 6

c What are NP problems? Briefly explain with an example how EC helps to solve zuch problems. 6

Merks

3

Marks

3

Marks

3

Answer b or c

b Write the algorithm for steepest ascent hill climbing and explain how this technique helps to 6
find out an optimized solution for problems tlat cannot be solved easily.

c Gencrate a heuristic firnction to solve the following problem using hill climbing tecbnique:

should be changed to

Answer b or c

b consider a TSP problem involving 9 cities say A,B,C,D,E,F,G,H,I. For the following parents 6
determine the offspring using edge recombination method.
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c - {rplein 6c sctdma treorcrn md sohrc frc'lircbtcm rsing frc freorrrir- Givcn a sri4 d- , Sbeag of length 5. For the foltowing *ht4 @ict fte srrvival for the generation
t?r*"tiAssume H).2 and Pc= l. Assume that thc pgpulation sizc is 4 and the initiat

., population I I 000; 101 I l, 0l0l t, 00 100. Assumc the fitncss function.

Q.no Mdftlc{ Mrrks

4.t Bricff cifldn hhitr MII{MAX ant sysitn ffiiw it-difiers fion oorml ad systm? 3

Ansrer b or c

b Writ€ an algorithm and solve ttu TSFpr6blem ftn dic followirig grryh. Givan.el, p=I, p=0. j.
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Explain the basic steps involved in simple ACo algoritbrn suggest thc local optimal and
global optimal conditions that ariscs vrtile soMng NP problcms using TSP.

Q.no. Medulc 5 Mrrks

JT

5.e 
. tVhat are tle basi; Orinciples ofswarm intelligence?

Ansrer bor c

b Whst is the i4ortance of social oetworking in PSO? Describe the difErcnt tlpes of
nerworking in PSO and tist 6eir advaffigEs and disadvantagc.

c Wrirc the algorithms for lbcst PSO aod gbest PSO with necessary equations for velocity
updation.

Q.no. ; lllodule 6

6.r Diffcrcntiate Abcgbcst and Abegbcstdist algoriens.

Answcr b or c

How ABC algorithm can find out an optimized soffionnsing the principies of bcc colony.
Give an exarryle-

How to solve N-Quccns problem using ABC algor_ithn with hcrristic inforoation.
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